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Candidates are required to give their answers in their
own words as far as practicable.

1.  Answer any ten questions: 2x10=20
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a)  What is meant by an underdevelopment trap?
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b) Define average poverty gap.
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c) Distinguish between forward and backward

linkages.
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d)  What do you mean by demographic dividend?
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g)

h)
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D)
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What are the key indicators of the

Multidimensional poverty index?
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Define optimum population.
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Define the concept of capability as described
by Amartya Sen.
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Indicate Fisher-Clark views regarding the

economic transition of a country?
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Define neutral technical progress.
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Define the concept of 'urban bias'.
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State basic assumptions of Todaro migration

model.
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What is human capital?
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2. Answer any four questions: 5x4=20
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Describe the common characteristics and
development obstacles of developing countries.
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What are the negative impacts of population

growth on economic development?
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How would you explain the "missing women"
mystery in the light of gender bias in Health and
Education?
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What is the relationship between the age

structure of a population and its dependency
burden? Is the dependency burden higher or

lower in developing countries?
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What is the push and pull factors behind the rural
urban migration process?
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3.  Answer any two questions:

Explain the use of Lorenz curve to make
judgements on the pattern of income distribution
in any developing economy.
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10x2=20
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Discuss the role of high investment rate and the
leading growth sectors in any economy for the
attainment of Take off stage as described by
Rostow. Does growth occur by stages only?
Discuss. 7+3=10
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What do you mean by food security? Discuss
the importance of the food security program in
the light of food entitlement approach. 2+8=10
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Discuss the conflict between increasing
employment by the use of more labour-intensive

techniques and raising the level of saving for
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investment with the help of an economic model.
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Briefly explain different senses in which the
term "Balanced Growth” has been discussed in

the development literature.
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Explain the notion of low-level equilibrium trap
with special reference to income-depressing
forces and income -raising forces in an
economy.

@I LIfeTe oI v #fEAZ @R AAG S
wfenies AAfaReee e orReier Fme
gl=enfs <t 4 |

(5)



